KpenneHnue 1081 Ha nanax B3

I'adapur A |AA|AB BB HA AC AD| B C D DH E |F| G H K L | M| N P |S|T |
56 90 | 23 | 115 | 88 7 | 110 | 100 | 71 | 36 | 9 M4x12 20 |3 |72 |56 |58 |199 (100 8 |120 | 7 |3.0 |
63 100 | 24 | 137 | 100 | 7.0 | 123 | 111 | 80 | 40 |11 | M4xI2 23 |4 | 85 |63 |70 [221 |115| 95 | 140 (10 3.0
71 112 | 26 | 133 | 110 | 8.0 | 137 | 127 | 90 | 45 |14 | MS5xI2 30 |5 |11.0 |71 | 7.0 | 247 | 130 | 110 | 160 |10 | 3.5
80 5 |35 | 157|125 | 9.0 | 155 [ 136 | 100 | 50 |19 | M6x16 40 | 6 | 155 | 80 | 10.0 | 290 | 165 | 130 | 200 |12 |3.5
90S 140 | 37 | 175 | 125 | 10.0 | 175 | 144 | 100 | 56 |24 | MS8x19 50 [ 8 {200 | 90 |10.0 |315 165|130 |200 |12 |3.5
90L 140 | 37 | 175 | 150 | 10.0 | 175 | 144 | 125 | 56 |24 | MS8x19 50 | 8 {200 | 90 |10.0 |340 | 165 | 130 | 200 |12 |3.5
100L 160 | 40 200 | 172 | 11.0 | 195 | 160 | 140 | 63 |28 | MI10x22 | 60 | 8 | 24.0 | 100 | 12.0 | 382 | 215 | 180 | 250 | 15 | 4.0
112M 190 | 41 |226 | 181 | 12.0 | 220 | 183 | 140 | 70 |28 | MI0x22 | 60 | 8 | 24.0 | 112 | 12.0 | 400 | 215 | 180 | 250 | 15 | 4.0
1328 216 | 51 | 260 | 186 | 14.5 | 258 | 198 | 140 | 89 |38 | MI2x28 | 80 |10 | 33.0 | 132 | 12.0 | 469 | 265 | 230 | 300 | 15 | 4.0
132M 216 | 51 |260 | 224 | 145 | 258 | 198 | 178 | 89 |38 | MI2x28 | 80 |10 | 33.0 | 132 | 12.0 | 508 | 265 | 230 | 300 | 15 | 4.0
160M 254 | 60 | 314 260 | 18.0 | 315 | 255 | 210 | 108 |42 | MI6x36 | 110 |12 |37.0 | 160 | 15.0 | 613 | 300 | 250 | 350 | 19 | 5.0
160L 254 | 60 | 314 | 304 | 18.0 | 315 | 255 | 254 | 108 (42| MI6x36 | 110 | 12| 37.0 | 160 | 15.0 | 658 | 300 | 250 | 350 | 19 | 5.0
180M 279 | - |355| - - | 355|280 | 241 | 121 |48 | MI16X36 | 110 |14 | 425 | 180 | 150 | 700 | - - - - -
180L 279 | - (355 | - - | 355280 |279 | 121 |48 | MI16X36 | 110 |14 | 425 | 180 | 150 | 740 | - - - - -




Pasmepbi 2181 1 3681 (manbiii pnaHew)

' 1 3681
Iagapur AC | AD | D DH E F G i

M N P s T
56 L 1o | 100 |09 Mix12 20 3 72 199 65 50 80 Ms | 25
63 L2319 | 11 Mix12 23 4 8.5 21 75 60 90 M5 | 25 |
71 | 137 | 127 | 14 M5x12 30 5 10 | 247 85 70 105 M6 \ 25 \
80 | 1ss | 134 | 19 M6x16 40 6 155 | 290 | 100 80 120 M6 | 30 ‘
'908 [175 | 10 | 24 M8x19 50 8 200 | 315 115 95 140 M8 | 30
90L G \ 140 | 24 M8x19 50 8 200 | 340 15 95 140 M8 | 30 |
100L 195 | 160 | 28 M10x22 60 8 240 | 382 | 130 | 110 | 160 M8 | 35 |
112M 20 | 178 | 28 M10x22 60 8 240 | 400 | 130 | 110 | 160 M8 | 35 |
1328 258 | 206 | 38 M12x28 80 10 | 330 | 469 165 130 | 200 MIO | 35 |
132M 258 | 206 | 38 M12x28 80 | 10 | 330 | 508 | 165 130 | 200 MIO | 35 |
160M 315 | 255 | 42 M16x36 1o [ 12 | 370 [ e13 [ 215 180 | 250 MI2 | 40 \
160L L 315 [255 | M16x36 1mo | 12 | 370 ] 658 | 215 180 | 250 MI2 | 40 \
180M | 355 | 280 | 48 M16X36 10 | 14 | 425 | 700 | 300 | 250 | 350 9 | s |
180L 355 | 280 | 48 MI16X36 o | 14 | 425 | 70 | 300 | 250 | 350 19 | s |




